=

SHISERE 128 BH & ¥ & Z@HEER 116268 BE
OIFZFED AZERTIAERER
B | @ TEE 1 2 3 4 5 6 |seesen| %
1K |#HFEEIRE 2| B | HEEE ! BR ! k4 | &5 1 KS | o0
3| #% EXiii =& i
16:20
2 | K 1 2 3 4 5 6 17:30
16:20
3 f 1 2 3 4 5 6 17:30
4 | £ | #EEBERM~108 (£)
5|8
1 .
6 | B |lsE=nsar — 2 8 4 LEEIE o
= 3| #& EES I T :
3EENT AR 1 PTART—) .
7|k |pEE~ama 23 ) BROMEE NEGGEE B =T B O e puvwy [0
PTARS—IL (1) 3| ZHEE By i
e - . 16:20
8 |k |eEEm1~aR(1-2%) 1 2 3 4 5 6 17:30
R HEAR 16:20
o | & [mrixs (140) Kiopokz b k3 ke b e b e | 1730
10| & |stE1~aB(1-24) 1 2 3 4 5 iAiEES }gfgg
1|+
12
5 15:20
- :
AR EH A .
14| k| mEmsm(eEamaEE 1 2 3 4 M?;ﬁ_,fﬂ }ggg
5 1 6
BREAS (24) _ i 16:20
15 K | ex=zAe L=l 1 2 3 4 siﬁilxns 1730
Y==K =
16| % [FEAR GE) 1 ) s . ;"E,‘gés 16:20
HHEREEER(HF) Ek?ilka% 17:30
16:20
17| % 1 2 3 4 K3 6 17:30
18| +
19| B
16:20
2| B 1 2 3 4 5 O | 1730
W g = 1400~ = FRAARR 14:.00 |;&#813:.05~13:20
21| X |REE-ZHBHR1400 o 2 8 i'zas 16:30 [#£25%13:25~13:40
. = AR .00 = 1400 |i&#@13:05~13:20
22 | K |fRiEH - =HEBHR14:00 vzl 1 2 O O 1630 |i&=2:%13.25~13.40
e — ook _ 14:00 |:&#813:05~13:20
.= EIRIKLS14.00~ 5 W
23 | K |[RiEH - =FBHR1400 E| x4 K4 O O 16:30 |#&55:%13:25~ 1340
w_ER ERBRIREERE we s 14:30 R e =
24 ﬁ -‘f@ﬁ?ﬁ.‘f@ﬁ (@) 1}ﬁ.it ﬁgiit %/E Iﬂt%%ﬁ% 16:30 (ﬁ&)g[‘/ﬁgx TAY
25| +
26| B
27| B |&F=RE~1/10
28| K
29| K
30| A
31| K
1H (k) sk, #aiits
=EO 11H (k) ~130 (K) FGER%—
EZAN=L




